 A CLOSER LOOK AT THE U.S. ECONOMY: PRIVATE AND PUBLIC SECTORS, DISTRIBUTION OF INCOME

The Distribution of Income

There are more than 105 million households in the U.S.  Who are they?


89% native born  (2000)


52% of foreign born are from Latin America


82% English speakers (primary), while 11% speak Spanish


78% work for private firms  (2000)


  7% work for themselves


14% work for government 


66+% live in a home they own (or on which they have a mortage)


33+% rent


Median value of home, 2000  =  $119,600


5.3 rooms median size


43% living in different house than five years ago, if in a house

1)       The Functional Distribution of Income
· The functional distribution of income examines how much each factor of production receives.  Labor receives wages, capital receives interest, land receives rent, and entrepreneurs receive profit.

· 2000: Households Receive Some of Each of These

Wages and Salaries  ($5.64 trillion)   =  70%

Profits ($1.61 trillion)                         =  21%  (Both corp. and noncorp.)







  (such as doctors, lawyers;)

(note that much of what)                 (they earn is wages for their

(own work)



Interest (568 billion)


=   7%

Rent ($140 billion)


=   2%

· The share of labor has been remarkably consistent at about 70% since      records have been kept.

· Note that some households also receive rents and interest. 

2) The Personal Distribution of Income

· The personal distribution of income shows what income individuals and households receive.

· Median HH Income (2000)  = $41,994

Median Earnings, FT workers (2000)  =  $27,194

· Richest one percent of HHs starts at about $800,000.   They pay 21% 


of all federal taxes, up from 15% in 1985.

· Richest 20% pay 65% of all federal taxes, up from 57% in 1985.   They pay an average tax rate of 34.4 percent, up from 26.2 percent in 1985.

· A family of four making $25,840 in 2001 paid no federal income taxes and received an earned income credit of $1,326.

· Average tax rate of lowest 20% went from 10.2 percent in 1985 to 4.6 percent in 1999.

· Living in Poverty (federal definition, 2000)  =  About 12% of the population today is living in poverty according to the federal definition. This is about $18,000 for a family of four.  $18,000 is not a huge amount of income; however, this amount does not transfer payments, in-kind, Medicare, Medicaid, rent subsidies, school lunches, food stamps, etc.   Earned income credit was $30 billion in 1999. 

Note that per capita income was about $3,000 per year in 1900 (today’s dollars); it is eight times as high today.   We have defined poverty upward.


However, today: 16% under 18 years are in poverty




    10% of those 65 years or older are in poverty

· Cumulating the Households
Lowest 20% of HHs

3.6% of Income

Second 20%


8.9% of Income

Third 20%

          14.9% of Income

Fourth 20%
          
          23.2% of Income

Highest 20%
          
          49.4% of Income

· The Lorenz Curve
Income inequality few somewhat during the 90s.  Richest 20%’s share


Went up from 51% from 64% in 1985.

But, there is substantial mobility between income classes.  Rrelatively few individuals stay in their position for long periods of time.   I.e,. different people.  E.g,. many  immigrants start in lowest 20%.


And, inherited wealth not as common.  In 1980, about 60% of the

400 most wealthy in the U.S. had inherited; by 1997, this had fallen to about 20 percent (Forbes)

Life expectancy has grown from 46 to 74 for men and from 48 to 79

for women.

3) Households As Spenders  

· Personal Consumption

$7.0 trillion (84%)



Services: 

   $3.93 trillion, or 58%   (Hair stylists, entertainers, attorneys)



Nondurable Goods: 

  $2.012 trillion, or 30%  (Food, clothing, gasoline)



Durable Goods:   

 $820 billion, or 12%  (Autos, furniture)

· Personal Saving


$6 billion (0+%)

· Taxes



$1.29 trillion (16%)

· The small amount of saving is a problem for the U.S.     We are not saving for the future.   Hence, can’t invest unless we borrow, usually from other countries.   Why?   Wealth effect of the stock market.   Easily available credit.

A Look at Businesses
Largest Firms
1)

Wal-Mart

$219 billion in revenue, 2001

2)

Exxon


$192 b.

3)

GMC


$177 b.

25)

StateFarm Ins.

$  46 b.

99)

Coca-Cola

$  20 b.

293) 
 Norfolk Southern
$  6.17 b.

Least Consolidated Industries

Dental Firms (111,000+ and 98% have fewer than 20 employees)

Florists (23,600+ and 97% have fewer than 20 employees)

Hair Salons  (83,00+ and 96% have fewer than 20 employees)

Auto Shops (151,00+ and 96% have fewer than 20 employees)

Funeral Homes  (16,000+, 95% have fewer than 20 employees)

Gas Stations (68,000+, 90% have 20 or fewer employees)

1) Some Terminology Relating to Business Firms

Plants: A physical location that performs some functions in producing or distributing goods and services

Firms: A business organization that owns one or more plants

Industries: A group of firms that produce roughly similar, substitutable products

2) Legal Forms of Business

Sole Proprietorship:  A business that is owned by a single individual who        typically supervises its operation

· Extremely numerous.  Easy to organize.   You are your own boss.  

· Major problem is limited resources.  Finances limited to what the sole proprietor has.   Can’t grow.   If they do grow, is the  manager up to it?

· Problem with family firms and management succession..

· Problem of unlimited liability.   

Partnership:  Two or more individuals own a business together and share profits and losses.

· Relatively easy to organize.   Some specialization possible because of multiple partners.  

· May lead to arguments, inconsistent policies.   

· Often have limited financial ability as well.   

· Continuity precarious, e.g., in law firms, medical practices.   What if a partner dies, or wants to quit?  What if the partners want to kick out another partner?  What about divorces?   Valuation problems.

· Unlimited liability.

Corporation:  

· A legal creation that can acquire, own, and use resources; produce and sell products; incur debts, extend credit; sue and be sued.

· Are immortal in that they are not attached to a single individual.  If I own stock in Norfolk Southern, and I die, the stock goes to my heirs.   It doesn’t mean the corporation dissolves.

· A corporation is like a legal person, but with limited liability.  That is, the corporation can be sued for debts, but not the individuals who run it.  Personal fortunes, then, are exempt.     This means that my financial liability, if I own a share of IBM stock, is limited to what I have invested.   (This can be a problem, as we have seen with WorldCom, Enron.).  

· Corporations have a superb ability to expand, to specialize, to hire professional managers, to realize economies of scale.   

· Those who own a corporation are not necessarily the same as those who run it; hence, “separation of ownership and management.”   


Control Issues

· The owners and the managers may not have the same interests. What owners like is not necessarily what managers like.   Owners want profit and increases in the value of their stock.   Managers may want high salaries, perks, “organizational slack.”   

· Note that when there is separation of ownership and management, there may be control  and motivation problems.   How do you get the managers to do what you want them to do?    This is often referred to as the “Principle-Agent Problem.”
· Some have said, “Well, make them part owners.”   Give them stock and/or stock options.   Others say, pay them on the basis of performance.   But, as we recently have seen, there are problems with this even though not doing these things may be worse.

· Who controls corporations is a critical question.   

· SR vs. LR executive compensation.   

· Who is on the board and how active are they?  Do they receive lots of compensation that makes them unlikely to challenge management?

Recent Corporate Mismanagement and Fraud

Enron

Energy trading and other kinds of trading electronically. Pipelines, transportation.
Signed contracts to provide commodities (often electrical power).  Then, deliberately underestimated the cost of doing so.  Then, Enron booked all of the projected future profits from this activity as belonging to this year.   So, Enron appeared highly profitable and its share prices rose.   So, then, did the compensation of its execs.

Dynergy

Not profitable as an energy trader.  So, to make it appear it was, it did contracts with other firms to buy and sell from each other.   Net effect was zero, but it looked as if Dynergy was doing great things.

Adelphia

Communications, cable TV.  Signed huge numbers of contracts with customers, even though many of these customers were imaginary.   Focus investor attention on the growth in sales.    Share prices rose, as did exec compensation.    These execs (mostly a family) were arrested and hauled off in handcuffs in July 02.

WorldCom

Global communications, fiber optics.  WorldCom reported many of its operating expenses as capital investments and incurred debt to do so.  So, on a current basis, the business seemed profitable.   But, it wasn’t incurring debt to build new plants and purchase new equipment.  Instead, it was paying for current operating expenses.  Apparently about 40 percent of its operating expenses were recorded this way.   Hid $4 billion in costs. So, it appeared to be profitable.   Higher share prices, exec compensation.

Largest bankruptcy in history.  


The Role of Stock Options:  Execs get the “option” (privilege) to purchase stock at a given price.   If the price of the stock rises rapidly, then you purchase this stock at the lower, agreed upon “option” price.   You have just made a huge profit.   You can then sell the stock, which many did, right before it fell in price as the market caught up with what was happening.


The Role of Accountants and Auditors:  Their job is to apply the GAAP (Generally Agreed Upon Accounting Principles) to the activities of the firm.  Should report the previous activities and accurately report the accuracy of a corporation’s books and the general health of the firm.   Problem was that many auditors (Arthur Andersen) did not want to lose the business, and so gave unrealistic, “I don’t see anything wrong” audit reports.   Also, most of the big accounting firms were doing consulting work for these same firms.   That is, they were making money supposedly curing the problems they found.  Huge conflict of interest.    


Role of Government Regulators:   Insufficient staff and funds.  Also, agencies get “captured.”   It’s tough to regulate, even if you want to do it well.   (See Paul Krugman, NYT, 062802)  


A Bit of History on Bubbles and Mania


Tulip Bulbs, Netherlands, 1634-37    5,900%, then down 93%


South Sea Shares, Britain, 1719-20, 1000%, -84%


American Stocks, U.S., 1921-29, 497%, -87%


Silver, U.S., 1979-82, 710%, -88%


Japanese Stocks, 1965-89, 3270%, -63%



(Forbes ASAP, 29 May 2000)

Financial Issues

· Corporate entities are easily the most effective business form when it comes to raising capital (raising financial backing)

· Corporations raise funds in two major ways:

Issue Stock: Sell shares of ownership in the corporation

Sell Bonds:  Promise to pay at a given rate of interest

· Double Taxation Issue


Corporate profits are taxed at healthy rates and then individual incomes are taxed, again, when the profits are distributed to the owners in the form of dividends.   

Some More Innovative Alternate Forms of Businesses

· Limited Liability Company (LLC)
This is an ordinary partnership for tax purposes, but is like a corporation and has limited liability.    LLCs distribute all of their profits directly to the partners.  Typically have a limited life of 30 to 40 years.

· Chapter S Corporation 



75 or fewer stockholders.   All profits go directly to the stockholders and it is the stockholders who pay taxes on that profit.  Thus, an S corporation avoids double taxation.   Still has limited liability.  

A Look at Government (The Public Sector)
1) Primary Governmental Functions

· National Defense

· Dealing with External Effects and Spillovers


Taxes: Placed on Consumers or Suppliers to deal with external

diseconomies being generated (negative externalties such as pollution and noise)

Subsidies: Given to Consumers or Suppliers to deal with external economies being generated (positive externalities such as health, education)

Alternatives to Taxes and Subsidies

Legislation and Prohibitions (But, these often are evaded as individuals and firms learn how to “game” the situation; this is a popular approach, but often produces unforeseen side effects and moral hazard)

Have Government Supply the Good or Service (But, government often is not very good at this, an example being the U.S. Postal Service; when government units are not tested in the marketplace and forced to earn profits and show efficiency, they often become inefficient)

· Helping Markets Work (Legal, Institutional Role)

Enable, Enforce Contracts

Maintain Health and Safety

Perfect Information

Provide Credibility, Reliability, Trust


      Deal with Market Failures (E.g, insurance re disasters)


· Maintaining Competition

Restore efficient resource allocation, limit monopoly power

But, goal should be improving competition, not protecting specific competitors.   Essence of capitalism is “creative destruction.”  Should not protect inefficiency.

· Redistributing Income

Some say this is what modern government is all about!

Transfer Payments:  E.g., welfare, food stamps, scholarships


A transfer payment is unearned.

Market Intervention: E.g., farm price supports.   Subsidizing college loan interest rates.

Taxation:  Progressive taxes.    Progressive vs. Regressive.

2) A Closer Look at Public Goods and Services

(Things government produces and supplies)

· Purely private goods can be exclusionary.   That is, the consumer can deny any of the consumption of that good (or satisfaction from) to other consumers.

· Purely Public Goods are non-exclusionary.   The consumer cannot deny the benefits of the good or service to other consumers or individuals who have not purchased it.  E.g., public health.  National defense. 

· Tend often to have a “free rider” problem because some individuals realize they will receive the benefits even if they do not pay for the good.   

· Consequently, we often observe the “tragedy of the commons.”   The

English public grazing area now is seen on beaches, public areas.   Nobody owns the area, so nobody has any incentive to use it intelligently.   Property rights problem.   

· Many Public Goods also tend to be indivisible.
  Can’t purchase a     small amount or the amount you want.  

E.g., a nuclear submarine.  

· A special variety of public goods deals with situations where        knowledge of what might happen is quite bad and/or the risks of an particularly adverse outcome are highly uncertain (terrorist attacks; earthquakes).   

· Note that many goods are “quasi-public” goods.   That is, they are   produced and consumed both publicly and privately.   

Education is a prime example.   

Libraries

Police and security

Garbage

3) Government Expenditures
· In 2000, governments at all levels spent %2.8 trillion.

· $1.74 trillion in purchases, $1.04 trillion in transfer payments

· Together, these are about 28 percent of out total income, up from about 22 percent in 1960.   

· Transfers grew from 5 percent to 10 percent during the same time period.   

· “Tax Freedom Day” was 3 May in the year 2000.

· About 15 percent of all employees worked for a government in 2000.

This compares to more than 30 percent in Sweden and Denmark, about 18 percent in Canada and about 6 percent in Japan.

· What the federal government spends its money on, 1999:


Pensions and Social Security

39%


Health




19%


National Defense


16%


All Other



12%

4) Federal Government Tax Revenues
1999:  $2.02 trillion

Personal Income Tax

48%

Payroll Taxes (e.g, SS)

34%

Corporate Income Tax

10%

Excise Taxes (e.g,. alcohol,


gasoline, tobacco)

   4%

All Other (Estate, e.g.)

   4%

Personal Income Tax Rates

Taxable Income 

Marg. Tx Rate
   Ave.Tx. Rate


$1-$43,850



15

15


$43,851 to $105,950


28

22.6


$105,951 to $161,450


31

25.5


$161,451 to $288,350


36

30.1


Over $288,350



39.6

5) State Governments: Revenues and Expenditures

Sources:  
Personal Income Tax  

34%




Sales/Excise Taxes

48%




Corporate Income

  7%




Licenses, etc.


  6%




Property


  5%


Expenditure Areas:
Education

36%





Public Welfare
25%





Health


  8%





Highways

  8%





Public Safety

  5%





Other


18%

6) Local Governments: Revenues and Expenditures

Sources:

Property Taxes
74%





Sales/Excise

16%





Personal/Corp Inc Tax  6%





Other


  4%


Expenditure Areas:
Education

43%





Welfare, Health
13%





Public Safety

10%





Housing, Sewage
  8%









Highways

  5%





Other


21%

7) What’s the Best Tax?
First, Some Definitions:


Progressive Taxes


Percent of income paid in tax rises as income rises


Federal Income Tax is an example 


Regressive Taxes


Percent of income paid in taxes falls as income rises


Sales taxes are an example


Proportional Taxes


Percent of income paid in taxes stays constant as income rises


Virginia Personal Income Tax is an example


UserTaxes

Individuals pay only if they use a service.   Attempt to align costs and benefits.

Highway tolls are an example.   Theory:Why should those who don’t drive pay for roads that others destroy?

Evaluation

· Many individuals like the notion of progressive taxes.   Believe

in Law of Diminishing Marginal Utility.  


Incentive Problems, e.g., in Scandinavia



The Laffer Curve

May not reward desired behavior



If I want to discourage low mileage autos, this won’t 

do it.

If I want to discourage individuals from throwing away bottles and cans, this won’t do it.


But, if I really think it is good to tax those with income and wealth, this will do it.

A Conceptual Experiment 

Jack and Jill.   Jack earns $10,000.  Jill earns $100,000.   Both use the city’s water supply.   They use equal amounts of water.   

A:   Now, we tax Jack 10% of his income and so he pays $1,000. 

       We tax Jill 5% of her income and so she pays $5,000.

Is this just?  They use the same amounts.  What are we trying to accomplish?  Raise revenue?  Redistribute income?  Discourage frivolous use of water?

B:    Now, we tax Jack and Jill the same, 10%.   Jack pays $1,000 and

        Jill pays $10,000.  


Is this just?

C:    Now, we tax Jack 5% and he pays $500.  We tax Jill 15% and so she     pays $15,000. 


Is this just?  Will it change Jack’s behavior? 


D:
Now, we tax them only on the basis of what they use, and since they use the same amount, they are taxed the same amount.   

Conclusion

Progressive taxes satisfy many individuals’ notions of what is fair.

Sales taxes are easy to collect and discourage consumption.

User taxes align costs and benefits by users.

Best tax appears to be the one that you pay and I don’t! 
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